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Calculate the probability of the spinner pointers landing on the specifed values.
Landon2 = Landon | = Landon | =
Landon 3 = Landon 3 = Landon 2 =
Land on odd = Land on even = Land on odd =
4,
Land on 3 = Landon 3 = Land on 3 =
Landon | = Landon2 = Landon | =
Land on odd = Land on odd = Land on even =
7.
Landon 2 = Landon2 = Landon 3 =
Landon | = Landon 3 = Land on 2 =
Land on even = Land on even = Land on odd =
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Answer Key

s N
Calculate the probability of the spinner pointers landing on the specified values.
1. 2. 3.
Landon2 = 1[/5 Landon | = 2/5 Landon | = 3/5
Landon 3 = [/5 Landon3 = [/5 Landon2 = [/5
Land on odd = 4/5 Land on even = 2/5 Land on odd = 4/5
4, 5. 6.
Landon3 = [/5 Landon3 = [/5 Landon3 = [/5
Landon | = 3/5 Land on 2 = 2/5 Landon | = 2/5
Land on odd = 4/5 Land on odd = 3/5 Land on even = 2/5
7. 8. 9.
Landon2 = 2/5 Land on 2 = 2/5 Landon3= 1/5
Landon | = [/5 Landon3 = [/5 Landon2 = [/5
Land on even = 3/5 Land on even = 3/5 Land on odd = 4/5
\§ J

©EduMonitor

theeducationmonitor.com



